Ratio to ATLAS

1.6

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp pndgrlying Event

+

;_pT> density wrt@ of leading track(|n| < 2.5, p.>0.5GeV,p >2 Gei'

B ATLAS

---0-- Pythia 6.428 345

----- i+ Pythia 6.428 346

—A— Pythia 6.428 370
Pythia 6.428 default

| | | | | | I | | | I | | | | | | |
] T T T T | T T T T T T | T T T T |
— IALIAL —
AAAAAAAAAAAL VAR VALVARVAR VARVARVARVARY, \/ N/ I\ “!—!AlAvll_!=lA
ra = raVavaVaVaVavaVavavVavaveVYaveyYavayavaVavayaV Ve VaYeVaval
AP ACAV A A AL PGP G A i VA VAUAGAAGAWASASAWATAWASAWA A A=A A WA A=A AL i WA = A WA A WA W/
| L 1 1 1 1 L | L 1 1 L 1 1 L | L 1 1 1 1 L | L

left|gright| (w.r.t. leading track) [rad]

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


